
zi you are given foris
P
,
Q
,
R
,
S
,
and arhad if all for lie

or the same place , we
need to chrose three

vectors that truch all of our ph . So the

easiest thirs to do is to choose ventors all starting

at the same ph . e .g . PG ,
PR

,
IS

Then we just
chich if the cross product of two

of them is erttoyeral to the third

: (R = PR) . s = 0

So
,
something that does NOT work is :

>

4Q
,
PR
,
QR

.

Since S is not in
any

of the ractors
, checking

(pa = PR) : QR talk
you ↳ting about

whether 5 lies or the plane .


